e}

KEFAZ2=FAAR(TWB LB D ORBWRIZDOINT ~HAINT
(ERL264E3 A RBE) ,.\*“5

RFRKREDHER
ﬂiﬁﬁzzoéﬁ EQOA~38) Free14m VBR22EE SERR23 B SRR 2 447 1

&t =+ &t &t EAN
T B ff:ﬁ 54 242 243 244 245
B | 1,686 7307 8.078 8,658 9,523
TEHEEO) | 31.22 30.19 33.24 35.48 38.87
VEEEAD] 6,24 6.04 6.65 7.10 7.77
TD(’)TFH
40 | 5A | 6A [ 7A | 8B | 9B 110|111 12A |17 |24 |37 3

rguﬂi;fz 21 | 2 90 | 22 | 22 19 | 22 | 20 1 19 | 19 | 19 | 20 1 244

Kii}\ﬂ(}\) 869 | 794 | 7H6 | 946 | 94T | BR9 1 914 | 82T § 741 | 630 | 52 ! 678 9,733

FEHI0A) 141,38 137.81 (38.30 [43.00 [45.05 [45.74 [41.55 [41.35 139.00 |33.16 | 39.58 133.90 39.89

H,@““!Q(J\) 878 [7.56 |7.66 18.60 |&.8] 19.15 18.31 |8.27 17.80 |6.583|7.9216.78 7.98

W BAEE A T25.3.15(%) 67N 7 RATREE T123.9.210K 8A

2 MARKROZH

B B Al BRI Al

H23.7.1~ H21113 H23.6.30
ool ®A e B A s OB e EEORYE
5 BN 42.23 1 [BR(8:30%) 9.34 ] B (8:30%) 9,14
] AR 37.87 2 %3@3‘(1?0;%&3 7.15 2 B (10:20%) 8.01
3 A H 36.08 320408 | T 3 Fal(12:40%) 7.79
4 FHEH 3197 4 %4{?3(15-05%) 4,53 ! EA1E (14:30%) 6.19
2 K 31.82 5OESEOT00%) | 401 5 FofE(16:20%) 4,87
Hzms~ _
EF EN BlA)
I 11,59 5,472
KK 5,536 1648
4 0,238 2,93
3| 4,081 2,212
11 3,30 [,784
LIS 2,710 1,522
7 2.362 1,338
8= 231 ;172
91 |55 520
I 388 5
1124 543
(RIS 488
549 337 I — ST 474
i 431 3 122
[iEN] 195 KET
[N 164 184
601 361 jel
267 Bl 47
142 250 231
136 216 215
228 151 166
134 137 120




FRUREESRI—FHBRRE
ERi24FEAR 18 ~FR265E3831H

ERER

FRE23ERE | 652%

SERV24EERE L 1958,

ERL25HEE 3698 | (M262{H2638 412 BER)

2t 1216%

E1TE#

TR 244EE

ERR 25 R

Ry oA FE

ERE25ERE

FIHEHR
4 5H 68 7H 8H 9f 108
:ll:ﬁﬁ%ﬁit@ﬁ%%%ﬂﬁﬁ%%:ﬂ:ﬁﬁ%%it@ﬁﬁg:ttﬁﬁﬁ%:ltﬁrﬁﬁﬁ
ER24EE 37115] 6 191771681 21) 6 127]112/60}31| 1136 tzggz 301 111431176{115 19! 8 | 301181]102| 14| 7 | 36 |159i 80} 18} 1963|180

SRR 254
BT

FR24GEE

109

P25 ERE




